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QUESTION 1

As a Cloud Volumes ONTAP administrator on AWS, you want to secure your Cloud Volumes ONTAP nodes so that you
can access them from only your 10.50.0.0/16 network. 

In this scenario, what would you modify to secure the nodes? 

A. Change the Cloud Volumes ONTAP Security Group from 0.0.0.0/0 to 10.0.0.0/8. 

B. Change the Cloud Manager Security Group from 0.0.0.0/0 to 10.0.0.0/8. 

C. Change the Cloud Volumes ONTAP Security Group from 0.0.0.0/0 to 10.50.0.0/16. 

D. Change the Cloud Manager Security Group from 0.0.0.0/0 to 10.50.0.0/16. 

Correct Answer: C 

 

QUESTION 2

As the site reliability engineer, you have successfully deployed Kubernetes clusters on AWS and Google Cloud Platform
using NetApp Kubernetes Service. 

In this scenario, what would enable you to manage these clusters through a single management Interface? 

A. Federation 

B. Helm Charts 

C. Istlo 

D. NetApp Trident 

Correct Answer: C 

 

QUESTION 3

Your company has purchased a new NetApp HCI cluster that you would like to backup to a Cloud Volumes ONTAP
Instance. 

In this scenario, which protocol would you use to natively back up all the LUNs on the cluster? 

A. Swift 

B. NFS 

C. S3 

D. SnapMirror 

Correct Answer: D 
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QUESTION 4

You are operating a NetApp AFF system. You are creating Snapshot copies on all volumes every four hours. You keep
the copies for 30 days. You also have StorageGRID installed with available capacity. You are running out of disk space
and want to free up space in the most cost effective way without losing any Snapshot copies. 

In this scenario, which statement is correct? 

A. Add additional SSDs to your aggregates. 

B. Add a tape library and copy the Snapshot copies to it every day. 

C. Deactivate Snapshot copies on all volumes. 

D. Add an external capacity tier to your aggregates and set the tiering policy to snapshot-only. 

Correct Answer: A 

 

QUESTION 5

You are asked to migrate data from Amazon Web Services (AWS) to Azure using Cloud Sync. In this scenario, what is
necessary to synchronize between the source and the target? 

A. Transit Gateway 

B. Data Broker 

C. AWS Data Sync 

D. Mediator 

Correct Answer: A 
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